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1. Who is the Law Officer of Government of India ?

(A) Chief Justice of India (B) The Attorney General of India
(C) Solicitor General of India (D) Law Minister

2. Which of the following is not programming language ?
(A) C (B) C++ (C) MS Office (D) Ruby

3.  The “Ring of Fire” also called Circum - Pacific belt is known for :
(A) Sea Mounts (B) Trenches (C) Landslides (D) Earthquakes

4. First Five Year Plan in India was from :
(A) 1947-1952 (B) 1949-1954 (C) 1950-1955 (D) 1951-1956

5.  In which year the Sikh Khalsa was founded by Guru Govind Singh ?
(A) 1698 (B) 1699 (€ 1700 (D) 1701

6. Identify the person who persuaded Gandhiji to come to Champaran to know the problems
of the cultivators :

(A) Rajkumar Shukla (B) Vinod Desai
(C) Mohan Prasad (D) Mahesh Shah

7.  Apiculture is the science and culture of :
(A) Cultivation of fruits
(B) Fisheries
(C) Honeybees and their Management

(D) Rearing of silkworms

8. - A ladder of length 80 m leaning against a wall is 4+/2 m away from the wall. Then the angle
of elevation is : .

(A) 30° (B) 45° (C) 60° (D) 75°
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9.  The Seventh Rock Edict of Ashoka was located at :
(A) Kalgi (B) Sopara (C) Javada (D) Shahbazgarhi
10. Amarnath Temple is located in :
(A) Gujarat (B) Jammu and Kashmir
(C) Uttarakhand (D) Himachal Pradesh
11. Thanamir Apples strive in :
(A) hot climate (B) cold climate
(C) moderate climate (D) none of the above
12. Distance : Scale : : Odometer :
(A) Work (B) Force (C) Mass (D) Weight
13. Which part of the Constitution deals with the constitutional status of Panchayat Raj
Institutions ?
(A) Part VI (B) PartIX (C) Part X (D) Part XI
14. Which type of rocks may contain fossils ?
(A) Igneous (B) Sedimentary (C) Hypabyssal (D) Metamorphic
15. Galena is an ore of :
(A) Hg (B) Al (C) Pb (D) Zn
16. Who of the following ruler of slave dynasty adopted a policy of ‘Blood and Iron’ in dealing
with unruly elements ?
(A) Qutubuddin Aibak (B) MNtutmish
(C) Raziya Sultan (D) Balban
17.  The average density of population as per 2011 Census in India :
(A) 450 per sq. km (B) 326 persq.km (C) 382 persq. km (D) 348 per sq. km
18. Who said, “The Battle of Kohima will probably go down as one of the greatest battles in
history” ?
(A) Lord Dalhousie (B) Lord Mountbatten
(C) Lord Wellesley ‘ (D) None of the above
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19.

20,

Match the following :
(a) Copper (1) Hutt
(b) Gold (i) Digboi
(¢) Petroleum (i) Zawar
(d) Zinc (iv) Khetri
Answer options :

@@ () () ()
(A) @v) @) @) (i)
(B) () @) (v) ()
€ (v) () (@) ()
(D) (v) () (i) (i)

In which of the following places Khudai Khidmatgars played an active role in the civi

. disobedience movement ?

21.

22,

24.

25.

(A) Lahore (B) Karachi (C) Hyderabad (D) Peshawar

How many article and schedules did the Indian Constitution contain when it was originally
passed ? ;

(A) 395 Articles and 8 Schedules
(B) 398 Articles and 10 Schedules
(C) 397 Articles and 9 Schedules
(D) 396 Articles and 9 Schedules

Yugantar Ashram was the head quarters of the Ghadar Party set up in :
(A) Paris (B) London (C) Singapore (D) San Francisco

The coldest place in Nagaland at an altitude of 2133.6 m above sea level is :
(A) Pitsero (B) Khonoma .
(C) Kikruma ’ (D) Merangkong |

Who summons and prorogues both the Houses of Parliament ?
(A) Prime Minister

(B) Speaker of Lok Sabha

(C) President

(D) Minister for Parliamentary Affairs

Mixed economy means an economy where there is :
(A) Existence of Capitalism

(B) Privatisation, Liberalisation and Globalisation
(C) Existence of both public and private sectors
(D) Growing crops along with rearing animals
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26. A Vaccine for Rabies was developed by :
(A) Louis Pasteur (B) Charles Darwin
(C) Alexandar Fleming (D) Joseph Lister

27. 'Nagaland Communitisation of Public Services and Institutions Act’, a first of its kind in
India, was passed by the Nagaland State Assembly in :

(A) 2002 (B) 2003 (C) 2004 (D) 2005
28. Which State came into existence as a result of 13" amendment in the Indian
Constitution ?
(A) Mizoram (B) Meghalaya
(C) Manipur (D) None of these

29. The election to the office of the President is conducted by :
(A) Chairman of Rajya Sabha
(B) Speaker of Lok Sabha
(C) Election Commission

(D) Both by the Chairman and Speaker of Rajya and Lok Sabhas respectively

30. The book “Terrible Matriarchy” was authored by :

(A) Monalisa Changkija (B) Easterine Kire
(C) Temsula Ao (D) Susan Waten
31. Shﬂloalakelsshaped in the form of a :
(A) footprint (B) human face
(C) acow (D) none of the above

32.  Article 371 (A) ;
(A) include religious practices (B) exclude religious practices
(C) exclusively for religious practice (D) none of the above

33. Urban local bodies under Nagaland Municipal Act, 2001 includes :
(A) Kohima Municipal Council
(B) Naginimora Municipal Council
(€) Chumukedima Municipal Council
(D) Tseminyu Municipal Council

34. Nagaland Pulp and Paper Company LTD, at Tuli was established in :
(A) 1971 (B) 1975 (C) 1981 (D) 1991
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35. Dobashis are part of the :
(A) Village Courts (B) Tribal Courts
(C) High Courts (D) Supreme Court
36. The study of poisons is called :
(A) Poisonology (B) Toxicology (C) Mycology (D) Mineralogy
37. Emergency in a state can be imposed by the President on the recommendation of the Governor
under :
(A) Article 356 (B) Article 359 (C) Article 360 (D) Article 365
38. At which session of the Indian National Congress, the president of the session Dadabhai
Naoroji declared swaraj as its goal ?
(A) * Calcutta (B) Madras (C) Nagpur (D) Poona
39.  Who allocates the Portfolios to the Union Ministers ?
(A) Speaker of Lok Sabha (B) President
(C) Prime Minister (D) Parliament
40. Which of the following is not 25% of the number x ?
x 3x
(A) (0.25)x ® 7 © (©2)x @) *-
41. The ‘Ainnurvar’ was a South Indian :
(A) Bank (B) Merchant guild
(C) Religious organisation (D) Literary organisation
42. RAM stands for :
(A) Random Access Memory (B) Random Available Memory
(C) Required Access Memory (D) Random Access Member
43. Bhagat Singh, Sukhdev and Rajguru were hanged on 23, March in :
(A) 1929 (B) 1930 (C) 1931 (D) 1932
44. First three numbers in a series of four numbers are respectively 10%, 20% and 30% more
than fourth number. Then the ratio of first three numbers is :
(A) 2:3:4 (B) 1:2:3 (€ 10:11:12 (D) 11:12:13
45. Nagaland University, a Central University, was established in :
(A) 1996 (B) 1994 (C) 1986 (D) 1981
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46. A difference of 1 degree in longitude at the equator is equivalent to nearly :
(A) 121 km (B) 101 km (C) 100 km (D) 111 km
47. Which one of the following is a water soluble vitamin ?
(A) Vitamin D (B) Vitamin A (C) Vitamin C (D) Vitamin K
48. Blue revolution is associated with :
(A) Oil seeds (B) Paddy (€) Milk (D) Fisheries
49. To which country Pulakesin II sent an embassy ?
(A) Simhala (B) China (C) Persia (D) Cambodia
50. Who of the following organised Abhinav Bharat as a secret society of Revolutionaries in
1904 ?
(A) Prafulla Chaki (B) V.D.Savarkar (C) Sachin Sanyal (D) Ajit Singh
51. The Naga club was formed in :
(A) 1929 (B) 1857 (© 1918 (D) 1951
52. The word pentium is related to :
(A) Hard disk (B) Microprocessor (C) Screen (D) Memory
53. The famous sufi saint Nizamuddin Auliya lived in :
(A) Ajmer (B) Bayana (C) Multan (D) Delhi
54. In which year the All India Trade Union Congress (AITUC) was formed ?
(A) 1919 (B) 1920 (©) 1921 (D) 1922
55. The first Primary English Medium School in the Naga Hills was established by Mary Mead
Clark in :
(A) 1890 (B) 1878
(C) 1867 (D) None of the above
56. The famous drama ‘Mrichchakatika’ was written by :
(A) Kalidasa (B) Sudraka (C) Bharani (D) Bhavabhuti
57. ‘Komagatamaru’ was the name of a :
(A) Train (B) Submarine (C) Ship (D) Town
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58. Tokhu Emong, an important festival of the lotha tribe, is a :
(A) pre-harvest festival (B) post-harvest festival
(C) mid-harvest festival (D) none of the above

59. 728:9::511:__2 .
(A) 4 (B) 6 (€ 8 (D) 10

60.  Which of the following crops needs maximum water per hectare ?
(A) Wheat (B) Sugarcane (C) Barley (D) Maize

61. The silver coin used as currency during Delhi Sultanate :
(A) Tanka (B) Fanam (C) Gadana (D) Rooka

62. Jallianwala Bagh is located in the city of :
(A) Ludhiana (B) Jallandhar (C) Amritsar (D) Gurudaspur

63. Tehri dam has been constructed across the river :
(A) Satluj (B) Kaveri (C) Bhagirathi (D) Krishna

64. Gross Domestic Capital Formation is defined as :
(A) Flow of expenditure devoted to increased or maintaining of the capital stock.
(B) Production exceeding demand.
(C) Net addition to stock after depreciation.
(D) Expenditure incurred on physical assets only,

65.  Which of the following state ranks 1* in area and production of wheat in the country ?

(A) Maharashtra  (B) Rajasthan (C) Uttar Pradesh (D) West Bengal
' 66. Persons with which blood group are called universal donors :

(A) O (B) AB <) A (D) B

67. Who of the following organised a No-tax Campaign in famine stricken Maharashtra in
1896-97 ?
(A) Gopala Krishna Gokhale (B) Mahadev Govind Ranade
(C) Bal Gangadhar Tilak (D) G.V. Joshi

68. The gas predominantly responsible for global warming is :
(A) Nitrous oxide (B) Nitrogen peroxide
(C) Carbon monoxide (D) Carbon dioxide
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69.

70.

71.

72.

73.

In a limited over cricket of 50 overs, the run rate during first 10 overs was 4. If the target to
win is 350 runs, then the run rate required in the remaining 40 overs to win the match is :
(A) 7.25 (B) 7.50 (€ 7.75 (D) 7.6
The total number of Coastal States in India :
(A) 5 (B) 10 (€ 9 (D) 8
Oranges are rich source of :
(A) Fats (B) Vitamins (C) Proteins (D) Carbohydrates
Shillong is situated in hills.
(A) Aravalli (B) Garo (C) Naga (D) Khasi

. . . 5
If numerator and denominator both are increased by 7 the fraction becomes —

6"
If the numerator is decreased by 2 and the denominator is increased by one the fraction

1
becomes —. The sum of numerator and denominator of the fraction is :

6

(A) 8 (B) 15 < 7 (D) 10
74. Which festival is celebrated by Konyak tribe ?

(A) Aoleang Monyu (B) Yemshe

(C) Tokhu Emong (D) None of these
75. Charaka, an authority on Medicine lived in the court of :

(A) Vashiska (B) Vasudeva (C) Kanishka (D) Huvishka
76. Match the following :

(a) Bhakra Nangal (i) Krishna

(b) Sardar Sarovar (i) Mahanadi

(c) Nagarjuna Sagar (i) Satluj

(d) Hirakund (iv) Narmada

Answer options :

(@ (b) (o) (d)

(A) (m) () @@ @

(B) () (v) () (i)

© @ (@) @ @)

(D) @@ (v) (@) (@)
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77.  Match the following :

(@) Oil seeds ()  West Bengal
(b) Jute (i) Karnataka
() Coffee (i) Gujarat

(d) Tea (iv) Assam

Answer options :

@ () (© (d
(A) () () (v) (@)
(B) (W) @ @) ()
© @) @ Gv) ()
@) @ @v) @) ()

78. The largest building at Harappa was a :
(A) Palace (B) Bathing Pool (C) Granary (D) Pillared hall

79.  The first Naga to join the Indian Foreign Service (IFS) was :
(A) Neichilieti Nikki Haralu (B)  Ethel Nikki Haralu
(C) Nini Nikki Haralu (D) Neikuo-o Nikki Haralu

80.  Which Moghul ruler legalised the widow remarriage ?
(A) Humayun (B) Akbar (C) Jahangir (D) Shahajahan

81. The fundamental rights of the Indian Constitution were borrowed with the inspiration
from :

(A) Constitution of the UK

(B) Constitution of the USA

(C) Constitution of the Switzerland
(D) Constitution of the Russia

82. If x+2y=3z then x*+8y%-272%: xy> =
(given that xyz = 0)
(A) 18:1 (B) -18:1 © 1:18 D) -9:1

83. Which of the native rulers was first to sign the Subsidiary Alliance Treaty with

Lord Wellesley ?
(A) Nawab of Awadh (B) Raja of Mysore
(C) Nizam of Hyderabad (D) Raja of Tanjore
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84. When Nagaland did give world attention from historical point of view ?
(A) 1* World War in the battle of Kohima
(B) 2™ World War in the battle of Kohima
(C) Chinese Aggression
(D) Indo-Pak War

85. The square root of (99972 + 1999 is :

(A) 10 (B) 10J10 (© 100470 (D) 1000
86. The legend of Jina and Etiben originates in :

(A) Sungratsu village (B) Mopungchuket village

(C) Ungma village (D) Mangmatong village
87.  Which one among the following is also known as brain of computer ?

(A) Monitor

(B) Arithmetic Logic Unit (ALU)

(C) Mouse

(D) Central Processing Unit (CPU)

88. Match the following :

(a) Pulicat Lake (i)  Rajasthan

(b) Chilika Lake (i) Maharashtra

(c) Sambar Salt Lake (i) Andhra Pradesh
(d) Lonar Lake (iv) Odisha

Answer options :

(a) (b) () (d)
(A) () (v) @) (i)
(B) (i) (iv) @) @)
© @ @) (v) @)
(D) @) (v) () ()

89. How many times can the President of India return a non-money bill passed by the
Parliament ?

(A) Once (B) Twice (C) Thrice (D) Never

90. In India the chromite deposits mainly occurs in :
(A) Kimberlites of Andhra Pradesh
(B) Sandstones of Delhi
(C) Ultrabasic igneous rocks of Odisha
(D) Greenstone belts of Karnataka
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91.  Which one of the following does not find mention in the Preamble of the Constitution ?
(A) Dignity of the individual (B) Dignity of the Constitution
(C) Fraternity (D) Unity and integrity of the Nation
92. The battle of Plassey was followed by “a night of eternal gloom for India” commented a
Bengali poet, who was he ?
(A) Nandita Sen (B) Amiya Sen
(C) Nabinchandra Sen (D) Satishchandra Sen
93. There are two groups in an association, namely A and B. The number of persons in A is
thrice the number of persons in B. Which of the following numbers does not represent the
total number of persons in the association ?
(A) 60 (B) 62 (C) 64 (D) 68
94. In which year the battle of Kannauj was fought between Humayun and Sher Shah ?
(A) 1538 (B) 1539 (C) 1540 (D) 1541
© 95.  Who of the following was the founder president of the Prarthana Samaj in 1867 ?
(A) N.G. Chandavarkar (B) KUT. Telang
(C) Pheroezshah Mehta (D) Atmaram Pandurang
96. Which is the main source of income for the people of Naga society ?
(A) Handicraft . (B) Agriculture
(C) Rearing of livestock (D) Weaving
97. Gun metal is an alloy of :
(A) Copper, Aluminium and Silver (B) Copper, Tin and Zinc
(C) Iron, Zine and Copper (D) Tin, Silver and Aluminium
98. Radioactivity is measured by :
(A) Radiometer (B) Ammeter
(C) Magnetometer (D) Geiger-Muller Counter
99. Which of the following elements is not a metal ?
(A) Gold (B) Aluminium (C) Copper (D) Sulphur
100. A money bill passed by the Lok Sabha is sent to the Rajya Sabha, the Rajya Sabha must
return such a bill back to Lok Sabha within :
(A) One month (B) 14 days (C) 7 days (D) Three months
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101.

102.

103.

104.

105.

106.

107.

108.

109.

Milk is pasteurised in order to :
(A) Increase of nutrients (B) Detect contamination
(C) Improve taste (D) Destroy micro-organisms

The Rajya Sabha can take initiative in :
(A) Censuring a Minister (B) Creating a new all India service
(C) Considering Money Bills (D) Appointing judges

Who among the following acts as the Presiding Officer of the House without being its
member ?

(A) Vice - President of India

(B) Speaker of Lok Sabha

(C) Chairman of the Legislative Council

(D) Speaker of the Legislative Assembly

Boundary line between the India and Afghanistan is :
(A) ‘Durand Line (B) ‘Tin Bigha Koridor’
(C) “Mc Mohan Line’ (D) ‘Sir Redcliffe Line’

Fivebellsringtoged\eratIOAM.andrh\gmspecﬁvdyatﬁ\einlewnls4mm,6min.,8nﬁn
and 10 min. At what time they ring together after 10 AM ?

(A) 12 Noon (B) 11.30 AM (C) 11.00 AM (D) 1230 PM

The Data of estimation of India’s National income is issued by :
(A) Planning Commission (B) National Data Centre
(C) Central Statistical Organisation (D) Niti Ayog

The South-West monsoon contributes ________ of the total rain in India.
(A) 86% (B) 25% (©) 98% (D) 56%
One of the following was not a member of the Drafting Committee of the Constitution :

(A) Dr. BR. Ambedkar

(B) Gopalaswami Ayyangar
(C) Dr. Rajendra Prasad

(D) Alladi Krishnaswami Ayyar

Which is the splendid embroidery style of Nagaland that has a internationally acclaimed
status ?

(A) Phulkari (B) Zardozi
(C) Angami Naga (D) Hathkari
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110.

111.

112. The nearest planet to the Earth is :

113.

114.

115.

116.

117.

Ships use to find the depth of the ocean beneath them.
(A) Ammeter (B) Frequencies (C) Echoes (D) Pitches

Who of the following led the Bardoli No-tax movement in 1928 ?
(A) Mahatma Gandhi (B) Narahari Parikh
(C) Vallabhbhai Patel (D) Raghunath Mehta

(A) Moon (B) Mercury (C) Venus (D) Mars

Who was the first Chief Minister of Nagaland ?
(A) RK.Sharma (B) S.C. Jamir (C) Mahindra Deb (D) P. Shilu Ao

The only state in India that produces saffron is :
(A) Kerala (B) Meghalaya
(C) Assam (D) Jammu and Kashmir

“Vijayanagar is one of the most splendid cities anywhere in the world which he had seen o
heard of”, who of the following said ?

(A) Abdur Razack (B) De Varthema
(C) D. Barbosa (D) Ceaser Frederick
As 4 is to 17 then 20 is to

(A) 401 (B) 399 . (©) 290 (D) 226

T. Amongla Aier became the first Naga woman :

(A) Indian Administrative Service (IAS) Officer

(B) Indian Police Service (IPS) Officer

(C) Indian Railway Personnel Service (IRPS) Officer
(D) None of the above

118. In which of the following states sun rises first ?
(A) Arunachal Pradesh (B) Kerala
(C) West Bengal (D) Tripura
119. Which one of the following Chola rulers built the Rajarajeshvara temple at Tanjore ?
(A) Rajaraja Chola (B) Rajendra Chola
(C) Rajadhiraja (D) Virarajendra
SCSP-16 14 4
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120.

121.

122.

123.

124.

125.

126.

127.

128.

129.

Hormone that maintains the blood glucose level within the limit is :
(A) Thyroxine (B) Testosterone (C) Insulin (D) Epinephrine

In which of the following states the Moplah rebellion took place in 1921 ?
(A) Tamil Nadu (B) Karnataka (C) Gujarat (D) Kerala

The following laid great stress on village as a unit of administration :
(A) B.R. Ambedkar and J.L. Nehru

(B) Mahatma Gandhi and Vinobha Bhave

(C) Sardar Patel and Lal Bahadur Shastri

(D) Indira Gandhi and Morarji Desai

Who among the following is known as the father of modern computers ?
(A) Gordon E. Moore (B) Euler
(C) Alan Turing (D) Charles Babbage

Annie Besant tried to spread the Home rule movement through one of her newspaper by
name :

(A) New India (B) Young India (C) Indian Patroit (D) Dawn

In 1879, Political Officer Damant was shot dead at :
(A) Kohima village (B) Viswema village
(C) Khonoma village (D) Mezoma village

Half of an Angh’s house falls within Indian territory while the other half lies in Myanmar
at:

(A) Longwa village (B) Angphang village

(C) Wangkhao village (D) Wakching village

A solar cell is a device that converts light energy into :
(A) Chemical energy (B) Flectrical energy
(C) Mechanical energy (D) Nuclear energy

Bandemataram song written by Bankimchandra Chatterjee was first sung by :
(A) Anandamohan Bose (B) Rabindranath Tagore
(C) Surendranath Benerjee (D) Bepin Chandra Pal

Jharia is famous for :
(A) Diamond mines (B) Coal mines (€) Copper mines (D) Oil Deposits
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130. Which is the longest west flowing river in India ?
(A) Narmada (B) Krishna (C) Kaveri (D) Brahmaputra

131. LPG consists of mainly :
(A) Methane, Ethane and Hexane (B) Methane, Hexane and Nonane
(C) Nonane, Methane and Ethane (D) Methane, Butane and Propane

The following table gives you the statistics of India food inflation. Read the table and answer tt
questions from 132 to 136.

Month Inflation
Oct, 2015 5.25
Nov, 2015 6.07
Dec, 2015 6.40
Jan, 2016 6.85
Feb, 2016 5.30
Mar, 2016 520
April, 2016 6.32
May, 2016 747
June, 2016 7.79
July, 2016 8.35

132. The lowest rate of inflation recorded in the month :
(A) November, 2015 (B) October, 2015
(C) February, 2016 (D) March, 2016

133. In which month inflation rate is high when compared to its previous month ?

(A) April, 2016 (B) May, 2016
(C) June, 2016 (D) November, 2015
134. During which month inflation rate is lowest when compared to previous month ?
(A) February, 2016 (B) March, 2016
(C) April, 2016 (D) May, 2016

135. The average rate of inflation during these 10 months is :
(A) 65 (B) 6.3 (C) 6.1 (D) 6.7

136. The average rate of inflation during April, 2016 through July, 2016 is :
(A) 7.14 (B) 7.48 © 7.23 (D) 7.77
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A survey conducted on 100 students in a college with regard to their playing habits in Carroms
(C), Chess (H) and Table Tennis (T) revealed the following information :

51 play Chess, 51 play Carroms, 54 play Table Tennis, 22 play both H and C, 24 play both C and
T, 23 play both T and H and 12 play only C and H.

Using this information ariswer the questions from 137 to 141.

137. How many play Chess alone ?
(A) 15 (B) 16 © 17 (D) 18

138. How many play none of these ?
(a) 2 (B) 3 © 4 (D) 5

139. Exactly how many play all the three games ?
(A) 7 (B) 8 © 9 (D) 10

140. The number of students who play either Chess or Carroms but not Table Tennis is :
(A) 41 (B) 42 © 43 (D) 44

141. The number of students who play exactly any two of the three games is :
(A) 39 (B) 38 (© 37 (D) 36

Let (Y, W) denote the ordered pair (Year, Weapons sales by India), where W is measured in millions

of USD. Consider the data (Y, W), given by (2006, 33), (2007, 23), (2008, 15), (2009, 27), (2010, 5),
(2011, 3), (2012, 0), (2013, 8), (2014, 53) and (2015, 33). Using this data answer the questions from
142 to 145.

142. What percentage earnings were made in 2014 alone over the span of 10 years total
earnings ?

(A) 265 (B) 255 (C) 245 (D) 275

143. Which year witnessed lowest rate of weapon sales over its previous year ?
(A) 2010 (B) 2015 (C) 2011 (D) 2008

144. The ratio of earnings in the first five years to the earnings during last five years is :
(A) 3:2 (B) 13:12 (C) 51:48 (D) 103 :97

145. The average sales of weapons during 2006 through 2013 (in USD millions) is :
(A) 16 (B) 15.25 (C) 1425 (D) 14
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146. Muhammad Ali, who died recently, was a professional famous boxer from which
country ?
(A) India (B) Pakistan
(C) Russia (D) United States of America

147. Who among the following Indian won the Ramon Magsaysay Award 2016 ?
(A) Arvind Kejriwal (B) Anna Hazare
(C) Anil Ambani (D) Bezwada Wilson

148. The world’s highest and longest glass bottomed bridge was opened to visitors in :
(A) Japan (B) South Korea (C) USA (D) China

149. Who among the following was conferred with the 2016, Rajiv Gandhi Khel Ratna ?
(A) Sania Mirza (B) Jitu Rai (C) Saina Nehwal (D) Vijender

150. “Who Moved My Interest Rate ?” is a book authored by :
(A) D. Subba Rao (B) Rangarajan
(C) Raghuram Rajan (D) Ahluvalia

151. The 2020 Olympics will be held in :
(A) New York (B) Beijing (C) Tokyo (D) New Delhi

152. In which of the following states the Ghatampur Thermal Power Project is present ?
(A) Odisha (B) Tamil Nadu (C) Telangana (D) Uttar Pradesh

153. The IIFA award for best film in 2015 was awarded to :
(A) Bajrangi Bhaijaan (B) Bajirao Mastani
(C) NH10 (D) Piku

154. Carolina Marin, who has won women's badminton gold medal at the 2016, Rio Olympics,
belonged to which country ?
(A) USA (B) Spain (C) France (D) Italy

155. Which among the following countries is the first country in the world to prohibit
deforestation ?
(A) Nepal (B) Germany (C) Norway (D) Bangladesh

156. Who was the winner of the Men's Singles in Wimbledon, 2016 ?
(A) Roger Federer (B) Andy Murray (C) Rafael Nadal (D) Leander Paes
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157.

158.

159.

160.

161.

162.

163.

164.

165.

Usain Bolt, the fastest man on the Earth, belongs to :
(A) USA (B) Russia (C) Germany (D) Jamaica

The 2016, G-20 summit was recently held in :
(A) Seol (B) Tokyo (C) New Delhi (D) Hangzhou

The world’s largest single roof top solar power plant has been opened in which state of
India ?

(A) Telangana (B) Rajasthan
(C) Punjab (D) Andhra Pradesh

The theme of the “International Literacy Day, 2016” is :
(A) Reading the past, writing the future

(B) 100% Literacy by 2018

(C) Reading the future, writing the past

(D) Reading the future

Irom Chanu Sharmila also known as the “Iron Lady of Manipur’ is a :
(A) Singer (B) Civil right activist
(C) Boxer (D) Cine actor

Jallikattu is an ancient bull taming blood sport played in :
(A) Telangana (B) Assam (C) Rajasthan (D) Tamil Nadu

Which of the following is the theme of the 31% edition of Summer Olympic Games held at
Rio De Janeiro ?

(A) World Literacy (B) World Free From Diseases
(C) - World Peace and Environment (D) World Green and Clean

What is India’s position in the 2016, Logistics Performance Index (LPI) ?
(A) 35t (B) 45t (©) 30t (D) 54t

“POSCO e-box” has been launched by which union ministry for protection of children from
sexual offences ?

(A) Ministry of Home Affairs

(B) Ministry of Social Justice and Empowerment
(C) Ministry of Health and Family Welfare

(D) Ministry of Women and Child Development
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166. “GST” stands for :
(A) Government Services Tariff (B) Goods and Services Tax
(C) Grand School Television (D) Goods and Selective Tariff

167. Padma Sachdev who was awarded the prestigious Saraswati Samman for the year 2015 is
the 1% women poet of which language ?

(A) Punjabi (B) Marathi (C) Dogri (D) Assamese

168. Who is the present Governor of Reserve Bank of India ?
(A) Raghuram Rajan (B) Y. Venugopal Reddy
(C) Urjit R. Patel (D) Chanda Kochar

169. TKV Desikachar who passed away recently, was related to which field ?
(A) Film (B) Classical Dance (C) Painting (D) Yoga

170. Who is the New Prime Minister of United Kingdom ?
(A) Theresa May (B) Therasa Miller
(C) Cameroon (D) Theresa Michel

171. The union minister of Human Resources Development is :
(A) Prakash Javadekar (B) Sushma Swaraj
(C) Manohar Parikar (D) Venkaiah Naidu

172. Forbes magazine named _____ the world’s most powerful person of 2015,
(A) Barak Obama (B) Narendra Modi
(C) Vladimir Putin (D) Ban Ki-moon

173. Who has been conferred with the 2015, Jnanpith Award ?

(A) C. Narayan Reddy (B) Raghuveer Chaudari
(C) Pannalal (D) M.S. Subbalaxmi
174. Which of the following is declared as National Aquatic Animal of India ?
(A) Greater Adjutant Stork (B) Gangetic River Dolphin
(C) Black Soft Shell Turtle (D) Green Soft Shell Turtle

175. “Majuli” the River Island is located in which state ?
(A) Kerala (B) Nagaland (C) Assam (D) Meghalaya
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176.

Chloroxylenol is an example of :

(A) Antiseptic (B) Analgesic (C) Antipyretic (D) Tranquillizer
177. In which state Vasudev Balwant Phadke led a revolt in 1879 ?
(A) Bengal (B) Tamil Nadu
(C) Maharashtra (D) United Provinces
178. In which year Shivaji attacked and looted Surat Port ?
(A) 1661 (B) 1662 (C) 1663 (D) 1664
179. The following Act created a Federal Court for India :
(A) Govt. of India Act, 1909 (B) Govt. of India Act, 1919
(C) Govt. of India Act, 1935 (D) Indian Independence Act, 1947
180. The emoluments, allowances and privileges of President are determined by :
(A). Office of the President
(B) Pay Commission
(C) Parliament by Law
(D) Chief Justice of India
181. The temple entry movement for untouchables known as Vaikom Satyagraha was launched
in:
(A) 1922 (B) 1923 © 1924 (D) 1925
182. The Second battle of Tarain was fought in the year :
(A) 1191 (B) 1192 (©) 1193 (D) 1194
183. The concept of Economic Planning in India derived from ;
(A) USA (B) UK (C) Canada (D) USSR
184. The average life span of Red Blood cell is :
(A) 120 days (B) 240 days (C) 180 days (D) 300 days
185. Atwhich session of the congress the resolution on Non-cooperation Movement was passed ?
(A) Bombay (B) Nagpur (C) Jaipur (D) Madras
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186.

187.

188.

189.

190.

191.

192.

193.

194.

The homeland of Nagas was formally inaugurated as the State of Nagaland in the year 1963,
as the State of the Indian Union.

(A) 14% (B) 15% (C) 16t (D) 17t

Who of the following rulers built the shore temple at Mamallapuram ?
(A) Mahendravarman (B) Narasimhavarman I
(C) Parameshvaravarman (D) Narasimhavarman I

From which of the following places Gandhi started a ‘Harijan tour’ for nine months between
November, 1933 and July, 1934 against untouchability ?

(A) Wardha (B) Sabarmati (C) Bardoli (D) Nagpur

The Reserve Bank of India was established on :
(A) 1* April, 1935 (B) 1* April, 1936 (C) 1%t April, 1937 (D) 1% April, 1950

Antibody is produced by :

(A) Erythrocyte (B) Monocyte (C) B-lymphocyte (D) T - lymphocyte
AIDS is caused by :

(A) Bacterium (B) Protozoa (C) Virus (D) Fungus

The National Rural Employment Guarantee Act came into force in the year :

(A) 2005 (B) 2006 (C) 2007 (D) 2008
Dziikou Valley is :

(A) 2438 metres above sea level (B) 2452 metres above sea level

(C) 1438 metres above sea level (D) None of the above

Who is the first man among the Nagas to become a Governor of an Indian State (Himachal
Pradesh) ?

(A) Mr. Hokishe Sema (B) Mr. T.N. Angami
(C) Mr. P. Shilu Ao (D) Dr. SC. Jamir

195. Gandhi led the historic march to Dandi on the seashore in Surat district and publicly violated
the Salt Law on :
(A) 6™ April, 1930 (B) 9™ April, 1930
(C) 12" April, 1930 (D) 15™ April, 1930
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196.

197.

198.

199.

200.

Which is the popular music form of Nagaland ?
(A) Heliamleu (B) Jazz (C) Raga (D) Huen

Which of the following texts was not written by Harsha ?
(A) Nagananda (B) Kadambari (C) Ratnavali (D) Priyadarsika

Panchayat Raj System envisages representative government at three levels. The following is
not :

(A) Gram Panchayat (B) Mandal/Block/Taluq
(C) Division level (D) District level

As marathon is to race, hibernation is to :

(A) sleep (B) awake (C) swimming (D) speed
'l'heﬁmEnglishdailynewspapermNagahndh:

(A) Eastern Mirror (B) Morung Express

(C) Nagaland Post (D) Nagaland Page
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